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Although everyone would agree that intelligence is a highly aracteristic, there is no

2 other mental capabilities. But 3 is theuf¥elative i ? e
a good memory 4  lack inventiveness. Another

able to build a complex structure after a quick glance a
Fill the blanks with the following options:

1. (A) desirable (B) disgusting (C) disputed (D) discussed
2. (A) a sum of (B) a kind of (C) a sense of (D) a number of
3. (A) what (B) where (C) which (D) wheg
4. (A) and (B) but (C) therefore (D) thug
5. (A) excellent (B) mediocre (C) pog

D) interested

6.What 1s the best definition of Righteous?

(A) Scholarly
(B) Honorable
(C) Careless
(D) Incomplete

7.What is the be ition of Fervent?

(A) Noisy

(B) Unwilling
(C) Inclined
(D) Obedient



9.Duncan will accept the job offer the salary is satisfactory

(A) unless

(B) though

(C) on condition that
(D) for fear that

10.Most writers speak of their fame it were quite a

(A) although
(B) as if

(C) according as
(D) so far as
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